THAEE
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wits ML TSR CERBE) MEMEE QR) (B -1 TR FREF R

% # 1 - Bk B % & B & 4 m =
EERIE 15,433,348 + 448,134 15, 881, 482
EEAHR 15, 433, 348
EEER 448,134
Z Ot /F il 15,433,348 x 53.85% ( 35% + (1 — 35%) ) 8,310, 857
E ] 15,881,482 + 8,310,857 24,192,339
—REERS 24,192,339 x 53.85% (36% + (1 — 35%) ) — 9,913 13,017, 661
EBmE 24,192,339 + 13,017, 661 37, 210, 000
HRBFBLER 37,210,000 x 10.00% 3,721,000
EBEEH 37,210,000 + 3,721,000 40, 931, 000




MHENRE FOBUL T8 54 CRRIIE) MRMEA K R) (81— TK) $RARH

# R BE - Ak ik By g i & # #H =

B R 15, 881, 482
SRET 15, 881, 482
HARBI 15, 881, 482
B EHETE 272, 600
AT EIE iR 130, 600
1 HHEHE iR 1.00 130, 600 130, 600

=
RimpEE 142, 000
2 BihpEE 1.00 142,000 142, 000

=
e - B18 418, 300
HEEEAHORERY 418, 300
J RFEEAHOREAN 1.00 418, 300 418, 300

=
BE 30 1, 056, 400
FIF- 8% - MHEHFRE 122,100
4FMA- B2 - HHEHSEE 1.00 122,100 122,100

=
TEHAEHEERN 233,100
5 T E AR B ERN 1.00 233,100 233,100

=




BEARE FIBUL TR (R MRAHDE (MR (B 11 TE) $EARRE

£ # e - kst B ¥ = B & # wm =

HETEOREH 701, 200

6 IFEEORES 1.00 701, 200 701, 200
=

HEXREH 12,581, 448

H#Ektodmd 4 XM, &2 ¥—ALLE 852, 000

T EEkX oy 1.00 852, 000 852, 000
=

ZEEDEE 4 EmM. &2 ¥—ARLE 7,348, 948

8 kBN REHEODEE 1.00 239, 340 239, 340
=

9 EHRENERERDOEE LAl e, S, BURE 1.00 1,675, 380 1,675, 380
=

10 {BFKEE O RSB MRAT M6. ST FEMME. |G - WiiE - FBE. 8 1.00 4,955, 548 4,955,548
S 7EXIE =+

N BRAEBOREEORE ﬁgﬁﬁmﬁl‘ﬁfﬁﬂ?mﬁ‘ mKRI S ADERE 1.00 478, 680 478, 680
=

WEETORE 4 EM. &2 5y—ALE 2. 285. 400

12 BB TORE 1.00 2,285, 400 2,285, 400
=

B BEER F DR AT BERE . R ARES 2,095,100

13 MFEEFOEST 1.00 2,095, 100 2,095, 100
=

B m E L 258,500

B m{ERL 258, 500




MHENRE FOBUL T8 54 CRRIIE) MRMEA K R) (81— TK) $RARH

% i Mg - BRTE By B & B & #R =

14 EmE{ERL 1.00 258, 500 258, 500

=
el - WS 439, 200
s - ME 439, 200
15 R 1.00 109, 800 109, 800

]
16 PR E 2.00 109, 800 219, 600

[l
17 mRME 1.00 109, 800 109, 800

[El
BE 180, 700
HE 180, 700
18 BE 1.00 180, 700 180, 700

=
BRY 226, 200
(52 226, 200
19 ¥HERREER 1.00 226, 200 226, 200

=
EiEER 448, 134
BHAMR 148, 134
20 BEAME 1.00 148, 134 148, 134

=
S 300, 000




BEARE FIBUL TR (R MRAHDE (MR (B 11 TE) $EARRE

£ i B - BkTik B B & B & #R wm =

21 EBHAR R 1.00 300, 000 300, 000




KT - BT/ \vr—>

ML TRESR (BRE)MEFER (KR) F1-1IR) SRR

&5 1
25 - EHEHE 1%y
£ R I - BT Bifs & B @ €& @@ H =
AR (BRET)
A 1.00 58, 600. 00 58, 600
Hem (A)
A 1. 00 51, 200. 00 51, 200
Hem (B)
A 0.50 41, 600. 00 20, 800
& & EZEEH - 1. 005K 130, 600. 00 130, 600
5.2
B RBhpEE 1LY
£ r I - BT Bl & B @ & @@ H =
HEn (A)
A 1.00 51, 200. 00 51, 200
Hem (C)
A 1.00 32, 800. 00 32, 800
B a
A 2.00 29, 000. 00 58, 000
& & EZEEH - 1. 005K 142, 000. 00 142, 000
5 :3
2 HEBEEEAHOBREEH 14y
& i I - BT B & B @ & & i =
EEHER (BRET)
A 1.50 58, 600. 00 87,900
Hem (A)
A 2.50 51, 200. 00 128, 000
HEm (B)
A 2.50 41, 600. 00 104, 000
HEm (c)
A 3.00 32, 800. 00 98, 400
& &t fEE8H : 1.00= 418, 300. 00 418, 300




KT - BT/ \vr—>

ML TRESR (BRE)MEFER (KR) F1-1IR) SRR

£S5 4
B FA - B - HHEHERE 1%y
£ i 1 - Bk Bl & B @ # = # &
F{EHEH (5T
A 0.50 58, 600. 00 29, 300
HEn (A)
A 1.00 51, 200. 00 51, 200
Hem (B)
A 1.00 41, 600. 00 41, 600
& & fEE8H - 1.00=t 122, 100. 00 122, 100
85
¥ . T EEHBERT 1%y
£ R I - BT Bifs i B @ 4 = H =
AR (BRET)
A 0.50 58, 600. 00 29, 300
Hem (A)
A 1.00 51, 200. 00 51, 200
HEm (C)
A 2.00 32, 800. 00 65, 600
BT E
A 3.00 29, 000. 00 87,000
& &t fE3REH - 1. 005K 233, 100. 00 233,100
E#S 6
¥ : #BEEOBR 1#®&y
£ fz I - Rk B iy B {f o] = i &
EEHER (BRET)
A 2.00 58, 600. 00 117, 200
HEm (A)
A 3.50 51, 200. 00 179, 200
HEm (B)
A 5. 00 41, 600. 00 208, 000
HEm (C)
A 6.00 32, 800. 00 196, 800
& & fEE8H - 1.00=t 701, 200. 00 701, 200




KT - BT/ \vr—>

ML TRESR (BRE)MEFER (KR) F1-1IR) SRR

5.7
B g DY 1%y
£ i 1 - Bk Bl # & B @ # = # &
HEm (A)
A 6. 00 51, 200. 00 307, 200
HEm (B)
A 6. 00 41, 600. 00 249, 600
HEm (C)
A 9.00 32, 800. 00 295, 200
& & fEE8H - 1.00=t 852, 000. 00 852, 000
£S5 :8
B KEREORESHOBE 1%y
£ R I - BT Bifs = B @ 4 = H =
AR (BRET)
A 0.30 58, 600. 00 17, 580
Hem (A)
A 0. 60 51, 200. 00 30, 720
Hem (B)
A 2.10 41, 600. 00 87, 360
HEm (C)
A 2.10 32, 800. 00 68, 880
H#fT 8
A 1.20 29, 000. 00 34, 800
& & fE%8H - 1.00= 239, 340. 00 239, 340




KT - BT/ \vr—>

ML TRESR (BRE)MEFER (KR) F1-1IR) SRR

£2 .9
L THREOREEOBE LU e, 5k, R 1%y
£ i 1 - Bk Bl & B @ & % = # &
F{EHEH (5T
A 2.10 58, 600. 00 123, 060
HEn (A)
A 4.20 51, 200. 00 215, 040
Hem (B)
A 14.70 41, 600. 00 611, 520
HEm (c)
A 14.70 32, 800. 00 482, 160
HiffR
A 8. 40 29, 000. 00 243, 600
& &t fEE8H : 1.00= 1, 675, 380. 00 1,675, 380
210
B BRREOHESESHNT M.SETRHE. 55 - HEE - §5thR. @EFS JEXHE 1%y
£ i 1 - Bk Bl & B @ & % = # &
F{EHEH (5T
A 0.58 58, 600. 00 33, 988
HEn (A)
A 21. 60 51, 200. 00 1,105, 920
Hem (B)
A 43.20 41, 600. 00 1,797,120
HEm (C)
A 50. 40 32, 800. 00 1,653,120
HiffR
A 12. 60 29, 000. 00 365, 400
& &t fEE8H : 1.00= 4, 955, 548. 00 4,955, 548




RIfR -/ Svr— ML TRESR (BRE)MEFER (KR) F1-1IR) SRR

£2 .11
2 BRIREOREEORE RAEHEOSVEZREERE, BXY SADEKIERE 1%y
£ i 1 - Bk Bl # & B @ & % " = # &
F{EHEH (5T
A 0. 60 58, 600. 00 35, 160
Hem (A)
A 1.20 51, 200. 00 61, 440
Hem (B)
A 4.20 41, 600. 00 174, 720
HEm (c)
A 4.20 32, 800. 00 137, 760
H#fT 8
A 2. 40 29, 000. 00 69, 600
& &t fEZEEH - 1,005 478, 680. 00 478, 680
212
B HEHETORE 1%y
£ i 1 - Bk Bl # & B @ & % " = # &
F{EHEH (5T
A 6. 00 58, 600. 00 351, 600
HEn (A)
A 6. 00 51, 200. 00 307, 200
Hem (B)
A 15. 00 41, 600. 00 624, 000
HEm (C)
A 12.00 32, 800. 00 393, 600
H#fT8
A 21.00 29, 000. 00 609, 000
& &t fEZEEH - 1,005 2, 285, 400. 00 2,285, 400




KT - BT/ \vr—>

ML TRESR (BRE)MEFER (KR) F1-1IR) SRR

#5513
B MHEREOREH 1%y
£ i 1 - Bk Bl & B @ # = # &
F{EHEH (5T
A 4.50 58, 600. 00 263, 700
HEn (A)
A 8. 00 51, 200. 00 409, 600
Hem (B)
A 15. 50 41, 600. 00 644, 800
HEm (c)
A 17.50 32, 800. 00 574, 000
HiffR
A 7.00 29, 000. 00 203, 000
& &t fEE8H : 1.00= 2, 095, 100. 00 2,095, 100
H5 14
25 - REER 1%y
£ i 1 - Bk Bl & B @ # = # &
Hem (B)
A 2.50 41, 600. 00 104, 000
HEm (C)
A 2.50 32, 800. 00 82, 000
H#fT8
A 2.50 29, 000. 00 72, 500
& &t fEZEEH - 1,005 258, 500. 00 258, 500
£2 .15
B FBRTHE HEER
£ i 1 - Bk Bl & B @ # = # &
F{EHEH (5T
A 1.00 58, 600. 00 58, 600
HEn (A)
A 1.00 51, 200. 00 51, 200
& it fE¥E8H : 1.00E 109, 800. 00 109, 800




KRBT/ ANvr—

ML TRESR (BRE)MEFER (KR) F1-1IR) SRR

55 .16
25 FREBRE 1EHY
£ b R - KT & B i} £ # E2 # =
X HAT (3%ED)
A .00 58, 600. 00 58, 600
FEh (A)
A .00 51, 200. 00 51, 200
& it {E3sEH : 1.00[E=] 109, 800. 00 109, 800
#5117
£¥ : RERE 1B&EY
£ R g - kT B B {f &+ 8 = ix &
T EHED (&5
A .00 58, 600. 00 58, 600
HEm (A)
A .00 51, 200.00 51, 200
= L1 {E¥8ED - 1. 00E 109, 800. 00 109, 800
£S5 .18
B2 BE 1xXHY
£ M R - Bk X B B @ il il £ i =
T IEH))
A .50 58, 600. 00 87,900
HEn (A)
A .00 51,200.00 51,200
HER (B)
A .00 41, 600. 00 41, 600
= L1 {E¥8ED - 1. 005K 180, 700. 00 180, 700




KT - BT/ \vr—>

ML TRESR (BRE)MEFER (KR) F1-1IR) SRR

£2 .19
B EIEERR B 1%y
£ i 1 - Bk Bl B @ & % = # &
F{EHEH (5T
A .00 58, 600. 00 58, 600
Hem (A)
A .50 51, 200. 00 76, 800
Hem (B)
A .00 41, 600. 00 41, 600
HEm (c)
A .50 32, 800. 00 49, 200
& &t fE3REH - 1. 005K 226, 200. 00 226, 200
E = ]
B EHRAAH B
£ R I - Rk B B {f & & = i &
BEARE
= .00 148, 134. 00 148, 134
& &t fEE8H : 1.00= 148, 134. 00 148, 134
#5521
B XBHER 1%y
£ R I - iR B B & #B = ES
EGRERE
=% .00 300, 000. 00 300, 000
& &t fEZEEH - 1,005 300, 000. 00 300, 000




